
Predsoblje LIGHT
Komoda 2K1F

UPUTSTVO ZA MONTAŽU

1/6

800 mm

356 mm

9
9
6
 m

m



x 2

x 4

x 16

POLEĐINA
x 56

x 4

x 8

x 8

x 8x 8

x 3x 12

973x398x3
 

x 1

180

20mm20mm

x 4

x 4x 12

x 16

POD I PLAFON

STRANICA

VRATA

800x335x18
 

50x50x20

50x50x20

x 1

800x3
35x18

 

800x3
35x18

 

x 1

x 2

x 2

x 2

x 2

x 2

x 1

x 2

940x335x18
 

780x397x18
 

190x797x18

763x330x18

300x120x18

702x120x18
 

735x297x3
 

FRONT FIOKE

POLICA

STRANICA FIOKE b

STRANICA FIOKE a

POD FIOKE

x 8 x 4

x 1

x 4

x 2

x 2

973x398x3

 

973x398x3

 

3.5x20

x 4

x 4

M4x22 M4x40

L

R

2/6

007333

x 4

fi 35

4x16

3.5x20

112719

4x30

007334

6.3x13

008660

011136 011137

7x35

012312

8x30

007323

1.6x20

007329

015363

120375

007336

123228

160mm

R

x 1

123358

1050x50

x 4

6.3x10

116120

šematski prikaz

0

1

2

3

4

5

6

011137

7x35

x 1

123358

1050x50

011137

7x35



1. 2.

4.3.

3/6

x 1 x 1

R
L

x 2

x 1
L

R

x 2
x 4

4x16

L R

x 24

940x3
35x18

 

735x297x3

 

702x120x18

 

702x120x18

 

780x3
97x18

 

940x335x18 

x 1
L

R

x 2

702x120x18

 

x 1
L

R

x 1
L

R

x 2

6.3x10

116120

x 2

6.3x10

116120

x 2

x 2

x 4

x 2

011136

012312

8x30

007329

007336

x 4

007329

x 2

012312

8x30

x 2

012312

8x30

x 2

012312

8x30

x 2

012312

8x30

x 2

011136

x 2

011136

x 2

011136

x 2

007336

x 2

007333

4x16

x 2

007333

4x16



6. 7.

8. 9.

x 32

973x398x3

 

4/6

800x335x18 

800x335x18 

973x398x3

 

9
4
0
x3

3
5
x1

8
 

9
4
0
x3

3
5
x1

8
 



10. 11. 12.

5/6

x 2

M4x40

x 2

6.3x13

008660

x 2

6.3x13

008660

x 2

4x30

007334

x 1

123228

160mm



6/6

x 4

fi 35

M4x22

763x330x18

x 8x 4

14.

15.

763x330x18

x 4

+

-

13.
x 2

6.3x13

008660

x 2

6.3x13

008660

x 1

123228

160mm

x 1

123228

160mm


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

